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Question Number : 1 Question Id : 70819112267 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
4

The value of the integral _”9 J-"|dJL' is :
—4

Options :

o
L3 | b
-

70819140101.

70819140102, 2

70819140103.

70819140104, =

Question Number : 1 Question Id : 70819112267 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



4

HQ xz|dx ag)om enadinellant mjelo :

=4
Options :
12
70819140101.
122
70819140102. 3
125

70819140103. 2

70819140104, =

Question Number : 2 Question Id : 70819112268 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of infinite number of terms of a Geometric Progression is 3 and the sum of the

squares of its terms is 7. The sum of the cubes of its terms is :

Options :
el
70819140105, 1~
108

70819140106. 12

M| 3

70819140107.

E
70819140108. 7



Question Number : 2 Question Id : 70819112268 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
80} egoaniSld ewarlaloa Hdadlmlg aleammains ®idh 3 -9o @Y wlAMBEes

QUBNEIBIOS @) ; So @YEM. alGEIBRINS HIMIBRINS M]dh ag)Mm) :

Options :
el
70819140105, 1~
108

70819140106. 12

70819140107.

70819140108.

Question Number : 3 Question Id : 70819112269 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following Boolean expression is a tautology ?
Options :

70819140109, F =P V4

70819140110, P~ =P

70819140111, P~ PV @) v (~9



20819140112, (P ¥ "P)~ (@ v (~q))

Question Number : 3 Question Id : 70819112269 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

969 ehosjomldlenimaiaiad esoegoad mpalisies mydwad agamialadm agoma :
Options :

70819140109, F =P V4

70819140110, (P79 =P

70819140111, PPV a) v (~9)

20819140112, P Y P}~ (q v (~q)

Question Number : 4 Question Id : 70819112270 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let [a| <1, [b[<1, [c|<1and x=} a",y=) b",z=) " [ e

” are in Arithmetic

]

n=0 n=(0 n=0

Progression, then :
Options:

70819140113, & b and care in Arithmetic Progression

70819140114 a, b and c are in Geometric Progression

70819140115, & 2b and c are in Arithmetic Progression

a, b ek b2 —
20819140116, & P and c satisfy 2b*=ac



Question Number : 4 Question Id : 70819112270 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a|<1, [b|<1, |c|<1, x=la",y=lb",z=lc" B,

n=l() n=( n=()

cuysnlad eoeemesldd :

1 11
o '\Uf L 00U @M

Options :

20819140113, & b € €00 mumonmeewyeniiaiaioeny

20819140114, & P € QU eggpeaisles egyenlafaner

20819140115, & 2b, ¢ £00u qumomMmeewyeiieosy

: el v
20819140116, a, h,c@mmmsn 2b<=ac @mem

Question Number : 5 Question Id : 70819112271 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ih‘nzl?nIS

n=1

nl is equ al to :

Options:

70819140117, 19e+5

70819140118, 19e¢—5

70819140119, 16e—2

70819140120, 16e—7



Question Number : 5 Question Id : 70819112271 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

oo 2
,:- N +7n+5
J —

= ag)M@lm’ menmoen :
n=1 ’

Options :

70819140117, 19e+5

70819140118, 19e—5

70819140119, 16€—2

|

70819140120, 16€-

Question Number : 6 Question Id : 70819112272 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The least positive integral value of A such that 109+ (3% (4)°2) + \ is divisible by 9 is :
Options:

70819140121, 2

70819140122.

=]

70819140123.

70819140124, 1



Question Number : 6 Question Id : 70819112272 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

10°0+(3 X (4)2) + X agymafiom 9 e061E aljdenmon] aodlenopmelad, \ -&6 M@0
a@Ralo &0emm aliden @ewilmosy) :

Options :

70819140121, 2

70819140122.

=]

70819140123.

70819140124, 1

Question Number : 7 Question Id : 70819112273 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are 4, 5 and 6 points on the three parallel and co-planar lines. If no set of four or more
points is cyclic and no set of three points lying on distinct lines is collinear, then the number
of circles passing through exactly three points is :

Options :

70819140125, 435

70819140126, 421

70819140127, 435

70819140128, **1

Question Number : 7 Question Id : 70819112273 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

MAAMOAL EdhI—q)MO0IMO@ @M coeudEld 4, 5, 6 agmlamen emllmyend
ag)S)ee)m;. @eaeid, mosen @oaldd dhisimean mimuwnd ‘Darugls ' @b Memd
amI® eoaubeld edko-ellod apdmemdes allwenid am miomead weymend
A® emeaBslg|. ag)@lm & am el sadlelas &S BalddhaM OEMEBRINS
ag)efo :

Options:

70819140125, 435
70819140126. 421

70819140127. 435

70819140128, 41

Question Number : 8 Question Id : 70819112274 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
. ax

b
Ify==———————j§-hasanexﬁemmnrﬂthepoﬁn(2,—lLthenthevﬂuesofaandbfwe:

(x—=1)(x
Options:

70819140129.

70819140130, 2= b=1

70819140131.

70819140132, 2= L b=1



Question Number : 8 Question Id : 70819112274 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

daX

(2, =1) agom enflo3dlad y :ﬁ af) M@’ ag)dmiiSlao oeemalc, a, b
X x—

agMMicuies mjelo :

Options :

70819140129, @=1, b=0

70819140130, 2=% b=1

70819140131.

70819140132.

Question Number : 9 Question Id : 70819112275 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The distance between the planes ? {2.:'. [ )! 21{' +5=0 and ? I,b";" | ";; fuch +2=01is:

Options :

70819140133, 19
70819140134, 4

70819140135, ¢

70819140136.



Question Number : 9 Question Id : 70819112275 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

20+ -2k)+5=0, 7+ 67 +3] -6k +2=0 ager) mesmRadisoiegs ajto

Options :
2
70819140133, 19
15

70819140134, 4

70819140135, ¢

70819140136.

Question Number : 10 Question Id : 70819112276 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 1
The pmbabilit}-' of solving a pmhlem in Mathematics b}-‘ two students X and Y are I and g

respectively. If both of them try to solve the problem independently, then the probability
that the problem will be solved by exactly one of them is equal to :

Options:
7

70819140137, 20

[ y
(=1
—

70819140138.



70819140139, 2U

Gl

70819140140. 20

Question Number : 10 Question Id : 70819112276 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

oo alladmdlad, X, Y agmilad, eecides aigmow werlmealaje mldwonemo

11
6.01GMIB8 MOW® @O0 7, & agmilsmammos. a6 Galmjo abauleniadand

e mldworemo a.algomd alajpm eecuddd erodas amacdl eaba)-mlidworsme
RAWIBIMBE MWD ag)M@ :

Options :
7

70819140137, 20

70819140138.

70819140139, 20

12

70819140140, 20

Question Number : 11 Question Id : 70819112277 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The polar form of the cnmplex number 1+1 is r_-qual to :

1—1
Options:
+;:mr:-1E [ z':aini
2 2
70819140141. = =
CDS:—I { Sin%'
70819140142. = -
cns'—_T [ z'zaini
70819140143,  * :
cnsi i sf_ni
70819140144, 4 5

Question Number : 11 Question Id : 70819112277 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i ag)(Mm Gdhlog )b MosUi@INS Galdgdd Mlalo ag)Mm® :
1—i
Options :

— —

cos — +1i sin—
" "
70819140141. = =

cos o { 5in%'
70819140142. B

cns'—_T [ fsini
70819140143. : :

cos L i sf_ni
70819140144. : i



Question Number : 12 Question Id : 70819112278 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the equation of a line which divides the line segment joining the points (I, 0) and (3, 0) in
the ratio 2: 1 and is also perpendicular to it, is ax=7, then the value of a is equal to :

Options :

]

70819140145.

70819140146, -

70819140147.

70819140148, 1

Question Number : 12 Question Id : 70819112278 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(1,0), (3, 0) agm enflm)ancd cwodl o] HeMHIM EERIIEIEMLOTIM Rlosmow ax=7
ag)im Go6Y, 2 : 1 ag)lm @ootosmuEla cnsuosLeMLA®D 0)Clanim) ag@le a @S
mjeljo ag)mMa@ :

Options:

I

70819140145.

70819140146, -

70819140147.

70819140148, |



Question Number : 13 Question Id : 70819112279 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Equation of the circle, which is the mirror image of the circle o yz— 2x =0 with respect to
the line x +y=2, is :

Options :
70819140149. 24y —2x+4y +3=0

-

x2+y—4x—2y+4=0

70819140150.

Yx2+ 42— x- &
70819140151, 2~y —x+y+1=0

2 . 2 SO, TS al
70819140152, Xty —2x—4y+3=0

Question Number : 13 Question Id : 70819112279 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
x+y=2 ag)m eeaH© @Slmuuommadsl 1% +y%-2x=0 agm alemodien dod oengd
0laleSIOmIM AlEmenile macidio agmae
Options :
=2 Y A A T —
70819140149, ¥ ¥ ~Zx+dy+3=0

"

x -’r-yz---lx—Zy-’r-l:D

70819140150.

Wil ard gy it
70819140151, 2~ +y7) —x+y+1=0

242 —2x — il
20819140152, ¥ty —2x—4y+3=0

Question Number : 14 Question Id : 70819112280 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Equations of the common tangent of the ellipse =1 and the circle

1Py~ 1P=4 are:
Options :
70819140153, ¥+3=0 and x=1=0

70819140154, ¥~ 3=0 and y+1=0

70819140155, *+3=0 and x—1=0

y-i—3=[] and y—1=lf]
70819140156.

Question Number : 14 Question Id : 70819112280 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2

x+1)*  (y-1)°
2? | 32
cujemaEadDie HulomIID HMISIURHRINS MDCLIRETED :

=1 opm ofelafmieoeie (x+1)%+(y-1)*=4 agmm

Options :

70819140153. y+3=0 and x—1=0

70819140154, ¥ 3=V and y+1=0

70819140155, ¥*+3=0 and x—1=0

y+3=0 and y—1=0
70819140156.



Question Number : 15 Question Id : 70819112281 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i 1 a
If A= {” J , then Ak (keN) is :

Options :

70819140157.

70819140158.

k ka
0 k.

70819140159.

{l kﬂ
0 0
70819140160. - '

Question Number : 15 Question Id : 70819112281 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5 -1
Dl @epodd, Ak (keN) agoma :
Options :
T ka
0 1
70819140157. ~ '

1 k“a
.[] 1 -

70819140158.



k ka
0 k.

708191401509.

1 ka
0 0
70819140160.

Question Number : 16 Question Id : 70819112282 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The values of s and t, for which the system of equations
X, +2,1'2+ 3,1'3: 9
xy+3x;+sx3=t

has no solution, are :

Options :

70819140161, 5=2, t=13

70819140162, S#5

70819140163, S=> 1= 13

70819140164, 17 13

Question Number : 16 Question Id : 70819112282 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Xyt X+ x3=5

X+ 2x,+3x,=9

Xy +3x,+sx,=1t

600 (MVDOUILETRWDSE) ‘OIV0R)aUM’ g af)Elad, s, t agmilau@ins ajelssdd :

Options :



70819140161, =2 t=13

70819140162, S#5

70819140163. °

70819140164.

Question Number : 17 Question Id : 70819112283 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Y i

: . —1| <X ¢ :
with respect to sin 5 ‘ in (1, =), is:

i
Derivative of tan ‘
1-x ) (d+x"

Options :

70819140165.

70819140166, ~ !

70819140167.

-2

70819140168.

Question Number : 17 Question Id : 70819112283 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o f 2.1- Y\ : ) f 2 A1
(1, =) -olad sin 1|1 = -om @Epdlcunomaods) tan 1‘ lj‘ oo
Fx“ 1-x° '

' / .\ 4

aadlecuglal agma :

Options:



70819140165.

70819140166. ~ !

70819140167.

I

70819140168.

Question Number : 18 Question Id : 70819112284 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—_  — - =

=1, It a><|,a><c_ t b=10, then

—_ -3 —

Let a, b and ¢ be three vectors such that ‘a‘:

‘_“

a

b

E\J|

—

o
the acute ang_le between a and ¢ is:

Options :

NP

70819140169.

NE

70819140170.

T
q

70819140171.

5
12

70819140172.

Question Number : 18 Question Id : 70819112284 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



‘ ‘ — — —

———m@oaag}rrr:mg,rmmmoaasog@gom a,b, c agria ax[axc]f:_d

h

- =

m@mmm’b, a, ¢ agmiassdisaiad opipqlsim mymedoed :

Options :

NP

708191401609.

NE

70819140170.
L
70819140171, °

5w

12
70819140172.

Question Number : 19 Question Id : 70819112285 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Solution of the differential equation (1 +y*)dx = (tan~ly—x)dy is :
(where c is an arbitrary constant)

Options:

.: =1 —mn'ly
70819140173, ¥~ 1 tan ‘ytce

| =1 1 tan lx
70819140174, Y=tA0 ¥ 1lhce

o -1 —tdn_ly
70819140175, Y- tan y-lice

an

x=—tan ly 1—Kke

70819140176.



Question Number : 19 Question Id : 70819112285 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(1+y?)dx=(tan "y —x)dy ag)m Wlhoomayy@d macod)onied emoeyaud :
(c oM@ 60} EadmQd] edomdayid @e )

Options :

a -1 —tan_lj.,r
70819140173, Y~ 1 tan ‘ytce

1 tan 'x

70819140174, Y~ @™ Y1t ce

. -1 —t:'m_ly
70819140175, X t@an y-ltce

70819140176.

Question Number : 20 Question Id : 70819112286 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2

The values of x, for which the vectors a= {xz 16) i -1; (x°—25) k make acute angles with

the (positive directions of) coordinate axes lie in :
Options :
70819140177, 172 4w &3]

70819140178, [ =24 v (=4, 3]

70819140179, (72 ~4) v & 5)

70819140180, (274~ (749)



Question Number : 20 Question Id : 70819112286 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A,
-

caloniiglal draless 1, y @euamaaow] caldmm a=(x? 16)i +4 (x>~ 25)k
OSSO MyMEdoemiddd tjalladlojpdd, x-am ajel mudaleaiguma :

Options :
70819140177, 172 —4l < 4. 5]
70819140178, 79 4) v (=4 5]

70819140179, (75> ~4) Y & 9)

70819140180, (>4 (=45

Mathematics Section B

Section Id : 708191422
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191702

Question Shuffling Allowed : Yes



Question Number : 21 Question Id : 70819112287 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

dx 1s
2

Tj M+ cos2x
0 1.|||| <

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819112287 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

dx ame ____ @deém.

"-*I T+ cosZx ;
0 1"II 3

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819112288 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The minimum value of 9tan20 +4cot20 is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819112288 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

9tan?0 + 4cot?d a6 &HI0TM dlello a)MmE @,
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819112289 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

X
The length of the perpendicular from the point (1, 2, 3) to the line = = is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819112289 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

.xlﬁ_y B
G e e

ag)m ensuaiealss (1, 2, 3) agrm enflozyaddd dlom cuewsnim
elooumdlom@ g @wem.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819112290 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

. 2
If log, 2, log, (2*-5) and logz| 2° o | are in Arithmetic Progression, then the value of x is
3 3 83 ?)

L

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819112290 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
- 5
logs 2, logs (2*-5), logs | 2* %| agymilcu mmomoewerieidd eoeemald, x om@ aelo
2)

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819112291 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If x2+x+1=0, then Jirx i|2 | |r1,2
l X7

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

=
o

-\2

s

Question Number : 25 Question Id : 70819112291 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

i Jr ll‘lz r2
2 +x+1=0 @M i x-—| +|x
L™

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

1

2

2

i

X

4

-
3

s

1

¥ -

w2

;

e

agym® __



Question Number : 26 Question Id : 70819112292 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

x2+y?—4x—2y~11=0 is a circle to which tangents are drawn from the point (4, 5) which
form a quadrilateral with a pair of radii. The area of this quadrilateral in square units is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819112292 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
(4, 5) agem enflezafl@d oflond x2+y%-4x -2y - 11=0 agym cujEmETieakss @) m
OISR, AEDETea a) 6208 epr)mo] eoldmy aimdeigo ol ladanymy

i

nidjod eide amde@ood aeagal @6
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819112293 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the sum of mean and variance of a binomial distribution is 15 and the sum of their squares
is 117, then the number of independent trials is equal to __

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819112293 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

80} eamiemodlod allnglniyaafd noondopswle eudodnin@oio ®d
15 9o @UWeS AbnBaIes ®)d 117 do @@, ‘Dadaflaaidwn el ®ains

af)§Ro _____ @DE.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819112294 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let the equation of the plane passing through the points (1, 2, 6), (2, 5, 7) and perpendicular
to the plane 4x—y+z=15be ax+by+cz+d=0. Ifa, b, ¢, d= Z with ged (|a|, |b, |c|)=1,
then [a+b+c+d | is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 28 Question Id : 70819112294 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
(1,2,6), (2,5, 7) agor enfln)aedlelns smiealodlmmio 4x —y+z2=15 ag)om malmnilad
EloSNICE0D AHEOM) ®EIMo6Ny ax +by +cz+d=0. ab,c,deZ ged ([a], b, |cf) =1, eoword,

)

atb+c+d ogmm __ @pem.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819112295 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Ir I
The number of real solutions in the interval [ ; -‘ of the equation 4sinx — 8sinx +3=0

15 -
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819112295 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



1

3T Tn
2 r

oM at@MIOM@ agemo __@oen.

}ag]rm eddeug/ad, 4sin>x —8siny +3=0 agym macnajemior ‘Clod

I‘\J|

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819112296 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1

] 10
Let Al, Az, A3, ....... be an increasing geometric progression. If T-; Ts

h_'% and

AA,=44], then 3(A, +A,) is equal to _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819112296 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
11 10

AL A, A, ... GDGO0AOEM (HOOWIEISS CRODISS CUIET @RI As ' As 63

9o AsA;=441 9o @ROM, 3(A,+A,) M@ @Bdh)M),

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Aptitude Test
SectionId: 708191423
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50
Section Marks : 200
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191703
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819112297 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which among the following is the full form of the “"UNESCO’ ?
Options :
70819140191. United Nations Educational, Scientific & Cultural Organization.

70819140192, United Nations Educational Sc-curit}-' Cultural Drgat‘ni;:ation.



70819140193, United Nations Entrance Site Calling Organization.

United Nations Educational, Sustainable & Cultural Organization.
70819140194.

Question Number : 31 Question Id : 70819112297 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

®6¥ eS| OldlenMal@d ‘UNESCO” @ies aljdemojalo ag@oem  ?
Options :

@OOMAW eMaddM’  afabyicdnadena, eemladle & oo
70819140191, BU00OOMEMaD

70819140192, @IOOMI EMaHDIY agianyeasnasm@d amaydldl &i.ajom soduesmemau

20819140193, IOSMAA EMaH@MS ag)BSMMY H6ME ooty B0BUOSMEMaHIDd

@OHEMAA" EMaUDM) ag)abjjesnattema, mmngemeud & &HBdalom
70819140194, SODWOOMETVAYCD

Question Number : 32 Question Id : 70819112298 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1

(I)  Hall of Nation (a)

(II) Falling Water, Pennsylvania (b)

(IIT) Petronas Tower (©)
(IV) Secretariat (d)
Options :

20819140195, D), (ID-(a), [D-(d), (IV)-(c)

20819140196, D-(0), (ID-(d), (D-(a), (IV)-(b)

20819140197, @) (ID-(b), (D-(c), (IV)-(d)



20819140198, OBy (Ha), (<), EV)L{d)

Question Number : 32 Question Id : 70819112298 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
algld - 1 6o algléd - 11 Ho calnjoals] CoIbs)d:
algls - 1

() a0 B9l emaud (a)

(I)  anoslesd cuosd, eaimdail@auondlwo  (b)

()  endeSoemomy scud (c)

(IV) emmgdlewq (d)

Options :



70819140195, (D-(b), (I)-(a), (ID)~(d), (IV)-(c)

20819140196, -(©), (ID-(d), (IT)~(a), (IV)-(b)

20819140197, 0@, (I)-B), ([)-(c), AV)-(d)

20819140198, DP) (IHa), (<), (VHd)

Question Number : 33 Question Id : 70819112299 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - 11
(I) Kamru (
(II) Delhi ( Badrinath Temple
(IIT) Fatehpur Sikri (c) Khirki Masjid
(IV) Kolkata (d) Buland Darwaja

a) Victoria Memorial Hall
)

Options :

20819140199, Wb}, (ID-(c), (HD-(d), (IV)-(a)

70819140200, D-(b), (ID-(d), (I)-(c), (TV)-(a)

20819140201, D), ()-(a), (1D)-(b), (IV)-(d)

20819140202, V(P) (ID-@), (I~(d), (IV)-(c)

Question Number : 33 Question Id : 70819112299 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



algld - I 9o algléd - 1l o Caldjoalsl @aldde) jds.

alglds - 1 algls - 11
(I)  ®»moy (a) allesesodw eacomodlwm a0ow
(I)  cwadadd] (b) eruiElmold esoendlid
(1)  aneE®alyd ol () elldssl amild
(IV)  e)x0adedanomm (d) enneid adauomo
Options:

0815140155, -(®), (D-(0), AD-@), (V)@

70819140200. D-(b), (ID-(d), (L)(c), (TV)-(a)

20819140201, D). ()-(@), (D-(b), (IV)-(d)

20819140202, ©(b) (I)-@), ID-(d), (IV)-(c)

Question Number : 34 Question Id : 70819112300 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List - I with List - 1L
List - 1 List - 11

() Agra fort (a)
(II) Atala Masjid (b)
(Il Nalanda University (c)
(IV) Jagannatha Temple (@
Options :

20819140203, D-(b), (ID-(c), (ID)-(a), (IV)-(d)

20819140204, D-@), (ID-(b), (IID)-(c), (IV)-(d)

70819140205, 1) (D-(a), (ID-(d), (IV)-(b)

70819140206, V) (ID-@), [I)~(c), IV)-(d)



Question Number : 34 Question Id : 70819112300 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
algld - I §o aidléd - 11 Ho caldjonlsl @alda)d.
alglss - 1 alglss - 11

(L @D CHIG (a)
-_'--'-*'i “‘-i._*ir_'l-.
, aroce| G
(II) @eme omigld by AT
(1) a3 mﬁ{yﬂimﬂfmﬂﬁl (c)

(IV) @mwmoln (esonllid) eduimo  (d)

Options :
70819140203, (1-(b), (I)-(c), (ID-(a), (IV)-(d)

20819140204, D-@), (ID-(b), (IID)-(c), (IV)-(d)



70819140205, M+9)- (D-(@). (1D-(d), (IV)-(b)

70819140206, O-(P) (1)-@). (h-(c), (TV)«(d)

Question Number : 35 Question Id : 70819112301 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - II.

List - 1 List - 11
(I) Yadvindra Garden (a) Manali
(II)  Vishnu Temple (b) Amritsar
(III) Hidimba Temple (c) Pinjore
(IV) Hari Mandir (d) Bunivyar
Options :

70819140207. {n“{‘:]r ﬂl]-{d], UIFJ-(h], {-[V]-{a]

70819140208, (D-(©), (I)-(d), (ID)-(a), (IV)-(b)

20819140209, (D-(d), (ID)-(b), (LD)~(c), (IV)-(a)

70819140210, (D-(b), (I)-(d), (M)-(a), (TV)-(c)

Question Number : 35 Question Id : 70819112301 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



algléd - I o algld - 11 Ho Galmjoalsl C.albdde .

algléds - 1 algls - 11
()  @dallir wodawd (a) @emoell
(I) fladem) eau(®mo (b) @e@y®aUd
() adlSloeru EdH|@mo () alleermiod
(IV) andlacsloo (d) ennrileod
Options:

70819140207. (D-(c), (ID)-(d), (II)-(b), (IV)-(a)

70819140208, (D-(), (I)-(d), (I)-(a), (IV)-(b)

20819140209, (D-(d), (ID)-(b), (I)~(c), (IV)-(a)

70819140210, (D-(b), (ID)-(d), (D)-(a), (IV)-(c)

Question Number : 36 Question Id : 70819112302 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11.

List - 1 List - 11
(I)  Mehrangarh Fort (a) Hyderabad
(II)  Siri Fort (b) Kolkata
(IIT) Golconda Fort (c) Delhi
(IV) Fort William (d) Jodhpur

Choose the correct answer from options given below :
Options :
70819140211. (D-(a), (II)}-(d), (IID-(b), (IV)-(c)

70819140212, (D-(d), (I)-(c), (ID-(a), (IV)-(b)

20819140213, (D), (I)-(c), (LD)-(b), (IV)-(a)



Question Number : 36 Question Id : 70819112302 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

algld - 1 90 algld - 11 Ho ealdlonlSl E.oldee)d.

alglé - 1 alglé - 11
()  e@mnoml GHIS (a) e®anEIeLIE
(I)  ofidl eog (b)  exEmOmdeOHNEH
(IIl) GUNWDOBNNE CHOS () awmdadl
(IV) eamddg afleyo (d) e=owand

®06¥ 6:0s)dldlenMmaudiad olmmie rdlwow pEmeo GlEOETMS 86 d:.

Options :

20819140211, (D-@), (I)-(d), (I)-(b), (IV)-(c)

20819140212, (D-(d), (I)-(c), (I)-(a), (IV)-(b)

20819140213, D-(d), (ID-(c), (ID-(b), (IV)-(a)

Question Number : 37 Question Id : 70819112303 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Book ‘God of small things’ is written by which Indian Architect ?

Options:

70819140215, B-V. Doshi

70819140216. Arundhati Roy



20819140217, Revali Kamat

70819140218, Dimal Patel

Question Number : 37 Question Id : 70819112303 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a@® aomimiudlaie lwoem “eurony Boad Minod wlledmi’’ agmn aljmimdo @.aflg)@ ?
Options :

70819140215, 6. All. @30ad]

70819140216, @0CIE] 00w

70819140217, EOU®| £00E7)

70819140218, 2@ ales@d

Question Number : 38 Question Id : 70819112304 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Tharokha’ is a type of window mostly found in :
Options :

70819140219, SUiarat

70819140220, "Vest Bengal

70819140221, lamil Nadu



70819140222, Rajasthan

Question Number : 38 Question Id : 70819112304 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

£2G00dH) af)MM SO0 BMOL! MANMIWI0 BHIEMEQ|SIMM :
Options :

70819140219, L¥RO0O®

70819140220, SCUEY 6o

70819140221, @AI¥YMOS

70819140222, ©OEUAOMD

Question Number : 39 Question Id : 70819112305 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The monsoon wind enters in Indian sub-continent from which direction 7
Options :

70819140223, North-West side

70819140224. South-East side

70819140225, Vorth side

70819140226, Scuth-West side



Question Number : 39 Question Id : 70819112305 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a® dlodad mlemosm memmued o @ Saleeuemberidd el ma ?
Options:

20819140223, (US#8 - alslemmod dlu

70819140224, OO - Hleas) Aloo

70819140225, US#6) Eloo

20819140226, ©®#6) - alSlemmod dloo

Question Number : 40 Question Id : 70819112306 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following building represents the colonial Architectural pattern in India ?

Options :
70819140227, Poaret Bhavan in Bhopal

70819140228. LIC Building in Delhi

70819140229, “harminar in Hyderabad

70819140230. Victoria Memorial in Kolkata



Question Number : 40 Question Id : 70819112306 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

®06Y OBSIOlEHNM ap® adgls rayal@me Mmalesl emoaml aam®dhel
dlafow (aldwomo a.aigyma ?

Options :

20819140227, GEafoelleles oo @almd

70819140228, LOAITIENES ag@. Hag). M. H&FSo

20819140229, ®Pa0c®MIdlenss aloddlmod

70819140230. adomanmmaies alleesodio emecomocioad

Question Number : 41 Question Id : 70819112307 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
What is the size of A2 Drawing sheet ?
Options:
70819140231. 420 % 590 (mm * mm)

70819140232. 420 x 594 (mm X mm)

70819140233, 277 »420 (mm>x mm)

70819140234. 420 x 592 (mm x mm)

Question Number : 41 Question Id : 70819112307 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A2 eiwodlot ealadlenn aleljajo ag)@mm@osem’ ?

Options :
70819140231, 420590 (dl. afl < ail di)
70819140232, 20594 (il dil xail di)

70819140233, 297 x 420 (di. afl xafl d)

70819140234, 1207592 (dil. dil xail dil)

Question Number : 42 Question Id : 70819112308 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Victory Tower belongs to which of the following fort :
Options:

70819140235, Chittor fort

70819140236, 1318arh fort

70819140237. Bhangarh fort

70819140238, ~xmer fort

Question Number : 42 Question Id : 70819112308 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



®O6Y¥ alOWIM aR®) eH05Wlaioen) allessdl saud gweq|simal ?
Options:
70819140235, 26T E£05

70819140236, =W G&HOZ

70819140237, °SHOWW &H03

70819140238, ©OZI0 e05

Question Number : 43 Question Id : 70819112309 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which amongst the following Architect has designed the famous Temple “Akshardham” ?
Options :

70819140239, Sanjay Puri

70819140240, Vikram Lall

70819140241, Ashok Lall

70819140242, & Sompura

Question Number : 43 Question Id : 70819112309 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@269 alo@)M comim) tlidalladad @peoem (wrmivaow ‘Boaudiie’ eau®o @)
dhajm f.alome ?

Options :



(Moo mg,fﬁl
70819140239.

70819140240, o £l

70819140241, EREUR0E 210G

70819140242, TV ETVODAL

Question Number : 44 Question Id : 70819112310 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“Volume Zero” Documentary is on which Architect ?
Options :

70819140243, Charles Correa

70819140244. Richard Mier

20819140245, Jasbir Sachdev

70819140246. Ranjit Sabliki

Question Number : 44 Question Id : 70819112310 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
afy®) cUomim) Uladallow & )Glajes eavodendSlooem enloglwo miens ?
Options:
70819140243, PR OH0®



70819140244, O-2od dl@d

70819140245, Eenld cvofeaal

70819140246, 2@ uenellss]

Question Number : 45 Question Id : 70819112311 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Agenda 21" is declaration related with :
Options :

Climate change
70819140247.

70819140248, Clobal warming

70819140249, oEteinabie developraent

70819140250, Smart city

Question Number : 45 Question Id : 70819112311 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

af)M@0w eIMLOR|S (nl6l)dalMmoem” @oggens 21 7

Options :

70819140247, ©Od2FlE aaleml

aggoeni@d cuodallowd
70819140248.



70819140249, Tuymudlo aflamumo

mimods ol
70819140250. 3 @

Question Number : 46 Question Id : 70819112312 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Gold mines are situated in which state of India ?
Options :

70819140251 Karnataka

70819140252, Orissa

70819140253. Maharashtra

70819140254. Uttar Pradesh

Question Number : 46 Question Id : 70819112312 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sy @iles a@®) momooma@mosm aujden euad cudlel e.aigumMmae ?

Options :

70819140251, “LEROSE

70819140252. sl

70819140253, 2aL00HS



70819140254, 2000 laeawy

Question Number : 47 Question Id : 70819112313 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the Southern Hemisphere shadowless light is from which direction ?
Options :

70819140255, North

70819140256, Scuth

70819140257, Cast

70819140258, Vest

Question Number : 47 Question Id : 70819112313 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
adaflem @eda enoaodla mlem tadl® domoe aalenme’ age) drala admosm ?

Options :

70819140255, (USHE
70819140256, D@6

70819140257, I9HE

70819140258, *SI6THIO



Question Number : 48 Question Id : 70819112314 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The first Indian Architect who has won Pritzker Prize in 2018 is :
Options :

i _
70819140259, B-V- Doshi

70819140260, Laurie Baker

70819140261, 2 Rewal

20819140262, *ichyut Kanvinde

Question Number : 48 Question Id : 70819112314 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2018 - eal (algmieend aljemieono eldla) (inn cor@lw aomim) tldal.

Options:
70819140259, Sl Al @30l

70819140260, 200! GELSOD

70819140261, 0% GOUM

mmcgm}“ #romadlens
70819140262.

Question Number : 49 Question Id : 70819112315 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Word “Bungalow” has originated from :

Options :

70819140263, Bengalurm

70819140264, banaras

70819140265, bengal

70819140266, Parl

Question Number : 49 Question Id : 70819112315 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

"erlogRoad T ag)m ale@mion £cEE0Ue aR®I@ milomoem ?
Options :

ENlotL®o
70819140263.

70819140264, FHMIOM

70819140265, o0

70819140266, ST

Question Number : 50 Question Id : 70819112316 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The IIM - Ahmedabad is designed h}-' which of the fnllnwing Architect 7

Options :
70819140267, LAaurie Baker

70819140268, Louis Kahn

70819140269, Lutyen

70819140270, Le Corbusier

Question Number : 50 Question Id : 70819112316 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0ag). 0af). afo - MNAARINUIE Aol H@aIM §.UW®m Mmwldal moey
alow)maudd eoooen ?

Options :

70819140267, 200! cenland

70819140268. ERUNILy o0eh

elRle@d
70819140269.

70819140270, & ©mode @b

Question Number : 51 Question Id : 70819112317 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In the given figure, how many squares are present ?

Options :

—

70819140271, 14

3

=

70819140272.

(=1

70819140273, 12

—

70819140274, 18

Question Number : 51 Question Id : 70819112317 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
MO 6)hISIMTIBleaM all@mEmlad ag)® TUDolm0eIRud Bens ?

Options :

—

70819140271, 14

3

=l

70819140272.

5

(=1

70819140273.

8

—

70819140274.



Question Number : 52 Question Id : 70819112318 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A drawing is provided with all the folds to construct the following three Dimensional object.
Select the correct one.

Options :
I e
1 |
70819140275.
I| [
I
I
70819140276.
-
_I .-
| |-
70819140277.

70819140278.



Question Number : 52 Question Id : 70819112318 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

069 dx0emYm (aflaom cumim aildamlsepmalio’’ B LmI® ag)go ASHedhEIo BRSEEIW
80} allimo maalwigems. rdwow am dlnaemms e d.

Options :

70819140275.

70819140276.

70819140277.



70819140278.

Question Number : 53 Question Id : 70819112319 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct view looking in the
direction of arrow, amongst the answer figures.

—KE O
[

Options :

70819140279.

70819140280.



70819140281.

70819140282.

Question Number : 53 Question Id : 70819112319 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

an) cumimallon ajedld mlmies ®0¥al (anm ali®o myallaflenim). oeme
afleomla soenafldenim epens aodesia ol emosniemiond &oemim ndwo
00l BIOOETMS]HE)]d.

7N
X7

Options :

70819140279.



70819140280.
70819140281.
70819140282.

Question Number : 54 Question Id : 70819112320 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

—
I

Options :




70819140283.

L]
70819140284,

[ 1
70819140285
70819140286

Question Number : 54 Question Id : 70819112320 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

80} ammalon aiesld mlmgs &ival wum ali@mo mjallaflenim). oome
allmomila smoeml.alidenirm epend mdasia ol emosnemioud &iemym ndlwow
&0¥0| BIOOETMS 6 db.

—
I

Options:

70819140283.




70819140284.

70819140285.

70819140286.

Question Number : 55 Question Id : 70819112321 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The pmblem t’igure shows the top view of an object. Identifj.,-' the correct elevation amongst
the answer figures looking in the direction of arrow.

L

T

Options :

70819140287.

70819140288.



708191402809.

70819140290.

Question Number : 55 Question Id : 70819112321 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

80} anmjalleqd aisgld dlmgs #0¥al (@@m ali@o mjaflaflenm). some
aflimeicd @oenafdenim epend modasdiad oo emosniemiotd &aemym ndwow
001 BIREETMS |6 jdb.

=

T

Options :

70819140287.

70819140288.



708191402809.

70819140290.

Question Number : 56 Question Id : 70819112322 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the t'ollf}wing answer fig_ures is hidden in problem i’igure in same size and direction.
Select correct one.

Options :

70819140291. E

70819140292. D
70819140293. ':



70819140294. ﬁ

Question Number : 56 Question Id : 70819112322 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

6% aHos|muldlenim 8oy e ali@o @em aelajodlale drdlalo (wwm
allimodlcd acsmden)m). oo am aloasmms)d .

Options :
70819140291. >
70819140292. D
70819140293. v
70819140294. ﬁ

Question Number : 57 Question Id : 70819112323 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Oneof the f nllowmg answer figurr_-s ishidden in problem f igure in the same size and direction.
Select correct one.

Options :

70819140295.

70819140297.

™
70819140296. Q
0
N

70819140298.

Question Number : 57 Question Id : 70819112323 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

®06¥ adosiamldlanym e geme allme @eem aelqjemilale dwrlaloe (wwm
afimoddd aoemildanim). rdwow amm loeemmsidHd.

Options:

70819140295. @



70819140296. Q

70819140297. 6

70819140298. m

Question Number : 58 Question Id : 70819112324 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in the problem figure in same size and direction.
Select the correct one.

Options :

70819140299.

70819140301.

N
A
>

70819140302.

Question Number : 58 Question Id : 70819112324 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

®06¢ Odos)emldlanym ao) oeme all@o @em aelqjenilele dlnalaoe (iwn
aflimevia aosmildanim). rolwow em aloastms)@s)d.

\

Options :

70819140299.

70819140301.

N
oo, C

A

>

70819140302.

Question Number : 59 Question Id : 70819112325 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Oneof the [ ollowi_ng answer figures is hidden in the prohlem ﬁgurr_- in same size and direction.
Select the correct one.

Options :

70819140303. D



70819140304. D

70819140305. O

70819140306. #

Question Number : 59 Question Id : 70819112325 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

®06Y HHos|mldlenym 6oy oeme alimo @em aelajodlaloc drdlale (wluwm
alimodlcd acsrmdenim). i am aloasmms)d .

Options :
70819140303. D
70819140304, D
70819140305. O
70819140306. ﬂ

Question Number : 60 Question Id : 70819112326 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is correct mirror image of problem figure with respect to
X-X?

X
H
[]
X
Options :
[ 1]
70819140307.
[]
[ ]
70819140308.
[l
[]
708191403009.

70819140310.



Question Number : 60 Question Id : 70819112326 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X-X @oemymudlal lalcim olimesien rdeiw wialmienio some almsmesed agmoen ?

X
[
[
X
Options :
]
70819140307.
[]
[ 1]

70819140308.



708191403009.

70819140310.

Question Number : 61 Question Id : 70819112327 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X ?

X X

Options:

-

70819140311.



D)
N

70819140312.

¥,

Ao

70819140313.

0N
N2

70819140314.

Question Number : 61 Question Id : 70819112327 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X-X @emymudla] lalwim alimesiien rdeow iaflmiomio oame ol agmos ?

Options :

70819140311.



o
N

70819140312.

¥,

Ao

70819140313.

0N
N2

70819140314.

Question Number : 62 Question Id : 70819112328 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the answer figures is the correct mirror image of the problem figure with
respect to X-X ?

7 X
Y/INN

4
Y X
Options :
N
L N\V
N
70819140315. /
N
NV
A
70819140316. /
N
P
\/
70819140317. /l\

S/

N4
AN

70819140318.



Question Number : 62 Question Id : 70819112328 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X-X @omimudla] (alutm ali@esion edeow ialmiamic smme allmsmselcd agpmoen ?

/ X
/NN
/
i X
Options :
o
LNV
N
70819140315. /
X
NV
N
70819140316. /
N
P
N/
70819140317.

70819140318.



Question Number : 63 Question Id : 70819112329 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figures complete the sequence of the pmh[em t’igure ?7 Select the
correct one.

A

Options :

ﬁt\u.
70819140319.
70819140320.
70819140321. |

N
S

70819140322.




Question Number : 63 Question Id : 70819112329 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(adom ollmsmBales (@ho aljdemlwisam armeall®e a@moem ? reolwow am
@106 TS ) B6) )b

Options :

74
70819140319.
70819140320.
70819140321. |
70819140322.

Question Number : 64 Question Id : 70819112330 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/

Options :

70819140323.

70819140324.

70819140325.

70819140326.

Question Number : 64 Question Id : 70819112330 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



80} amimialen @laom (3D) #09al @wm al@o malleflenim). semeal@eniad
ool afldlanim emend mdesldd almlo emadsemion &oemim Al &o¥al
(0] ) BTOTS Job6) ).

7

Options :

70819140323.

70819140324.

70819140325.

70819140326.

Question Number : 65 Question Id : 70819112331 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

3

%

Options :

70819140327.

70819140328.

70819140329.

70819140330.



Question Number : 65 Question Id : 70819112331 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

80} almimjaledd @aom (3D) 094l (alwm all@o mujalallenim). pemeal@endd
&oeml 2fldleo)m @perd aodedld ltmio emode)emioid &oemim Al &i¥al
@ 0O ENTS )66 ).

3

V

Options :

70819140327.

70819140328.

70819140329.

70819140330.



Question Number : 66 Question Id : 70819112332 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options :

70819140331.

[ ]

70819140332.



70819140333.

70819140334.

Question Number : 66 Question Id : 70819112332 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

80} almimaledd @aom (3D) 094l (alwm all@o mjalallenim). pemeal@endc
o6l afldleoim @peno aodedlad dlmio emoda)emIowd &oemim AW &I¥al
@06 NS )cb6) b

O

DAN

" NA

Options :

70819140331.



70819140332.

70819140333.

70819140334.

Question Number : 67 Question Id : 70819112333 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

70819140335.



70819140336.

70819140337.

70819140338.

Question Number : 67 Question Id : 70819112333 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

&0} almimiafed (@aom (3D) 409l (alwm afimo mpalalenymy. semeal@aniic
aoemlaldlanm emens acdasied aflmie emodn@muod &oemim AW &I¥al
@06 SOMS)6) b

/!

Options :

70819140335.



70819140336.

70819140337.

70819140338.

Question Number : 68 Question Id : 70819112334 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/!

Options :

70819140339.

70819140340.



70819140341.

70819140342.

Question Number : 68 Question Id : 70819112334 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&0}y aimmaleq @laom (3D) &09al (wm all@o mjalaflesym;. pemealmenicd
o6mlafldlanim eoeno aodasiad mlomie emosn)emiot &oemym Elwow @Yol
@ 06 SIS 1) .

/I

Options :

70819140339.

70819140340.



70819140341.

70819140342.

Question Number : 69 Question Id : 70819112335 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

e

Options :

70819140343.

70819140344.



70819140345.

70819140346.

Question Number : 69 Question Id : 70819112335 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&0} almimalad @aom (3D) &1¥al (wiwm ali@o mjalafleaym). oemealmenid
o6mlafldlanm emend aadasiad aflmyo emodn Bmuowd &osmim Al &I¥al
@ 06 6TNS J46) ko

7z

Options :

70819140343.



70819140344.

70819140345.

70819140346.

Question Number : 70 Question Id : 70819112336 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/1

Options :

70819140347. '



70819140348.

70819140349.

70819140350.

Question Number : 70 Question Id : 70819112336 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a0} aumimallof @laom (3D) &odal (aim alime mjafafleaymy. somealmenicd
&06mlfldlanim emeno aodesld momlo emodeiEmIomd &oemim el &@i¥al
@ OO ETTINS 16 ).

Z

Options :

70819140347, '

70819140348.



70819140349.

70819140350.

Question Number : 71 Question Id : 70819112337 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

/I

Options :

70819140351. —I



70819140352. )

70819140353.

70819140354.

Question Number : 71 Question Id : 70819112337 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&0y aurimalond @laom (3D) &oval (iwdm alimo miallallenim). pemealmenia
#06mlafldlanym epeno aodasiad almio emosniEmIolh &oemym RO &I¥al
@106 6TNS ) b,

/I

Options :

70819140351. —I



70819140352. )

70819140353.

70819140354.

Question Number : 72 Question Id : 70819112338 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

y

Options :

70819140355.



70819140356.

70819140357.

70819140358.

Question Number : 72 Question Id : 70819112338 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&0} aunmaledd @aom (3D) #0¢¥al (wm al@o miallalenim). semeal®end
#06m] f|dlae)m epero modasicd almyo eModn EMIoMD &Hoemim ORI &I¥al
(0106 EYTTIS Jcb) ).

y

Options :

70819140355.



70819140356.

70819140357.

70819140358.

Question Number : 73 Question Id : 70819112339 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

Options :



70819140359. | |

L
70819140360. | |
70819140361. | |

||
70819140362. |

Question Number : 73 Question Id : 70819112339 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

&80} arimalond (@aom (3D) &oval (alwm alli@o mallallenim). emealmaenc
oem| ofldlen)m @peno aodesla mlmie emModan B &oem)m AR &I¥al
@ 06 TS JH6) 1.

Options :

70819140359. | |



70819140360. | |

70819140361.

70819140362. |

Question Number : 74 Question Id : 70819112340 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking in the direction
of arrow, amongst the answer figures.

7

Options :

70819140363.

70819140364.



70819140365.

70819140366.

Question Number : 74 Question Id : 70819112340 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

&0} animiafed @aom (3D) &0¥al (wwm ali@e miallalenim). semeal@and
a0eml afldlenm epero modesla alamlo GMOEHIEMIOMND dhoem)mm ElWIW d&o¥al
(1] 06 6TTDS 6 ).

/

Options :

70819140363.

70819140364.



70819140365.

70819140366.

Question Number : 75 Question Id : 70819112341 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options:

70819140367.

70819140368.

708191403609.



70819140370.

Question Number : 75 Question Id : 70819112341 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

8} cummyallen @laom (3D) &oval wuwm alime mjaiafanmy. ammolend
n)asllad mlmies ndeiw &¥al semoolmsmsaga almio @leesmmS @6 ids.

Options :

70819140367.

70819140368.

708191403609.



70819140370.

Question Number : 76 Question Id : 70819112342 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the answer
figures.

Options :

70819140371.

70819140372.

70819140373.

70819140374.



Question Number : 76 Question Id : 70819112342 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

80) amimjalen @laom (3D) &0¥al (altdm all@o moaflaflanim). amedia mlmes
il &YYol pemeolmensls mimio cleasmms)da)d.

Options :

70819140371.

70819140372.

70819140373.

70819140374.

Question Number : 77 Question Id : 70819112343 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct top view, amongst the
answer figures.

Options :

|_r
70819140375.

|_|_‘
70819140376.

I_I_
70819140377.

|_r

70819140378.

Question Number : 77 Question Id : 70819112343 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



80) aummilion (@laom (3D) &0¥al imm afimo mallallanmy). ool dmies
il &¥al someclmsmslad mimie lReeTmS e db.

Options :

|_r
70819140375.

|_|_‘
70819140376.

H_
70819140377.

J_

70819140378.

Question Number : 78 Question Id : 70819112344 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Identify the building compositions of having less visual tension amongst the following figures.

(A) (B)
() (D)
Options :

70819140379, /) and (B)

(B) and (C)
70819140380.

70819140381, (©) and (D)

70819140382, () and (4)

Question Number : 78 Question Id : 70819112344 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

®maey mamidanim oeme all@ssdld mmie &oval momdde (Qllaydd HSmaud)
)0 OGS 62 ISl jdb.

(A) (B)
(©) (D)
Options:

70819140379, ) and (B)



(B) and (C)
70819140380.

70819140381, (©) and (D)

70819140382, (D) and (&)

Question Number : 79 Question Id : 70819112345 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

v v— U
v oA
Options :

Il
70819140383.

70819140384.

70819140385.

70819140386.



Question Number : 79 Question Id : 70819112345 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(em alli@mo 8o wumoalen aissld mlmies &oval mjallaflenymm).
o6mloflolasym @peEnd notdslm mllmie GMIENIEMIOGD &Hoemm Ol dhiYal
oemnall@andla almie wleaemms @ )d.

v v— U
v Hga
Options :

I
70819140383. |-|-

70819140384.

70819140385.

70819140386.

Question Number : 80 Question Id : 70819112346 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The problem figure shows the top view of an object. Identify the correct elevation amongst
the answer figures looking in the direction of arrow.

i\
2

Options :
70819140387. :
/N
70819140388. \\\\\}xwé{////f
/NN
70819140389.
AN
\V

70819140390.



Question Number : 80 Question Id : 70819112346 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(ddm alli@e &0} aummaled asgld olmes #09al miaflaflenim).
o6 ofldlenim @pend aodesldd dlmlo emadsemiod &oemim Al &oY¥al
pmmeolmsmeldd dlmmio alesemmsjd .

/\
V

N

Options:

70819140387.

70819140388.

> D D

70819140389.

70819140390.



Planning

Section Id : 708191424
Section Number : 4

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 25
Number of Questions to be attempted : 25

Section Marks : 100

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191704
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819112347 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these industries did not exist in London before the first world war ?
Options :

70819140391, Automobile

70819140392, Clothing and Textile

70819140393, ! rinting



70819140394, Iron and Steel

Question Number : 81 Question Id : 70819112347 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
B8N0 GRIEDANIALETIM @)Mal ®OOY alo®YM ap® U@ alsneadld
engjoafloyma ?

Options :

70819140391, FRESIOLOOOEE

70819140392, UT@EBEI0 BIETIEMmOETEG0

70819140393, 2E6Me (allnflowd)

70819140394, 204Mlo gyfleljo

Question Number : 82 Question Id : 70819112348 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A carbon footprint is the amount of ___ released into the atmosphere.

Options :

70819140395, Vitrogen

70819140396, Greenhouse gas

70819140397, Ozone

70819140398.



Suspended Particulate Matter (SPM)

Question Number : 82 Question Id : 70819112348 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e EleHoealss) aljonalsialleaim @paaloem ‘@odeniend an)g g
Options :

70819140395, OM(SERMD

70819140396, A0BOUNA0 QU0

70819140397, B0CMVOEND

20819140398, Tedlatis dleoullm cumimy (agv: all. ago)

Question Number : 83 Question Id : 70819112349 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A. KodaiKanal
Kullu
Mount Abu

Panch gani

Mg N o

Pahalgam
Arrango the above hill stations in the correct sequence from south to north in India.
Choose the correct answer from the options given below :

Options :
70819140399, E7D—=B—-A—=C

70819140400, L7 B—=C—=D—A



70819140401, ¢ 7 A—=B—=D—=E

70819140402, # 7P —>C—B—E

Question Number : 83 Question Id : 70819112349 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A, edonesHnmoa

B. 48

C. @ums @penl)
D. atemionod]

E. alanmne

MY @IOS HOHEENEM} (flmjo (USHEEINCONHEIES EBameh yeelad mmidkesim
afl@d EERAUMIBOS (bldblee)d.

Options :
70819140399, E7D—=B—-A—=C

70819140400, L7 B—=C—=D—A

70819140401, ¢ A —=B—=D—=E

70819140402, * P~ C—B—E

Question Number : 84 Question Id : 70819112350 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Planning Commission in India has been replaced by :
Options :
70819140403, Mo HUA



70819140404, NITT Aayog

70819140405, NIUA

70819140406, T

Question Number : 84 Question Id : 70819112350 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ey ilad glomdlowd damlan aldsoo aileidld cumae af® munoalmaoen ?

Options :
. B3, L)
70819140403, “9° & g2l @} o)

70819140404, Tl @pew@ocy

70819140405. QR ©ag). @} og)

all. ad. &
70819140406. ) )

Question Number : 85 Question Id : 70819112351 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When was the special Economic Zone’s Act enacted in India ?
Options :

70819140407, 2005

I

70819140408, 2007



70819140409, 2009

70819140410, 2011

Question Number : 85 Question Id : 70819112351 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

sn@iad miaalaxy@d agancemoals amoem @S omlalerilcd alma agmaen ?
Options :

70819140407, 2005

70819140408, 2007

70819140409, 2009

70819140410, 2011

Question Number : 86 Question Id : 70819112352 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the full form of NHAI ? Choose the correct answer.

Options :
70819140411, Mational Horticulture Association of India.

70819140412. National Heritage Authority of India.

70819140413, National Hydroelectric Power Authority of India.

70819140414. MNational Highwa}-' Auﬂmrit}-' of India.



Question Number : 86 Question Id : 70819112352 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

NHAT @}6s aljbeq ojalo ag)moem ? (dd@o@ 9omoo Gloa6mms e idb.
Options :

MOaHEM @ EanN0dGHold @eEmMOMicRatm Boad e0NT)
70819140411.

70819140412, PPoueM@ Sacdleqed @oemodif] Boad )

MOaHEM @ HOANEUWD EIGSIE altud @Re®Idigl Boad &)
70819140413.

MMM @ HANECU @REMITIG] Boad 0D
70819140414.

Question Number : 87 Question Id : 70819112353 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

How many Sustainable Development Goals were adopted by the United Nations ?
Options :

70819140415, 15

70819140416. 16

70819140417, 17

70819140418. 18



Question Number : 87 Question Id : 70819112353 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Dag)dhoatiis ME MmO agl® mujmudie aflémm elesemd mllaclafgens ?

Options :

70819140415, 15

70819140416. 16

70819140417, 17

70819140418, 18

Question Number : 88 Question Id : 70819112354 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which vear, the first industrial policy by Government of India was announced ?
Options :

70819140419, 1947

70819140420, 1948

70819140421, 1950

70819140422, 1949

Question Number : 88 Question Id : 70819112354 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AR®)UBaU@OET DNT@IOS EDERIOO® QYOI Mo (alelallennaige ?
Options :
70819140419, 1947

70819140420, 1948

70819140421, 1950

70819140422, 1949

Question Number : 89 Question Id : 70819112355 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Planning of Barcelona city in Spain is known for its :
Options :
70819140423, Superblocks

70819140424, Tadial pattern

70819140425. high rise development

70819140426 walerbased trangpnrt

Question Number : 89 Question Id : 70819112355 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Woadlofloal @myaie euodmieaosm mmeo agmilen eadld edweaaqisimy ?

Options :

70819140423, TAHO® CERJOBM



20819140424. coload aloeqend (@Al (aldilojalo)

e6n0 eenm sawakelalpam (ewosmeauens Allemmo
70819140425, Joadd (o &) )

70819140426, BEP@IN®O

Question Number : 90 Question Id : 70819112356 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these is not an industrial city ?
Options :
70819140427, Durgapur

T B ATy
70819140428, Vishakhapatnam

70819140429. Bhubaneshwar

70819140430, Bhilai

Question Number : 90 Question Id : 70819112356 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

®069 alo@MaE@d AlaIMIW Moo EREIOEME aR@oeT ?
Options :

70819140427, CH0BOHBC

70819140428, CHIROBIaISEMO



70819140429, ©3CUEMURID

70819140430, €lelow

Question Number : 91 Question Id : 70819112357 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of these schemes / programmes by Government of India is linked to heritage cities ?
Options:
70819140431, AMRUT

70819140432. Make in India

70819140433, HRIDAY

70819140434. P

Question Number : 91 Question Id : 70819112357 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

®69 alo@imadldd ean3 nimoa@on ap®m) alabdl | aldlaloslwiem oealmd

moeaBEgmod einuflaflofdlemar ?

Options :

70819140431, TPE@

70819140432, 2049 €D LD



70819140433, “C9°Y

70819140434, 2°@

Question Number : 92 Question Id : 70819112358 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following south Indian states has the highest ground water utilization
(in percent) of its total groundwater potential ?

Options :

70819140435, Tamil Nadu

70819140436, arnataka

70819140437. Andhra Pradesh

70819140438, Kerala

Question Number : 92 Question Id : 70819112358 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

069 alo@)mauaiad afy®) adxlleemmym motunommoem cjnde selcwadidd agpalie
d)sioa e)nde gelo Hale@ordlanima (omaomedc) ?

Options :

70819140435, ®AIMOS

DENISH
70819140436. Gm

70819140437, @RI(MDlalCEUY



NG
70819140438.

Question Number : 93 Question Id : 70819112359 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Survey of India was established in :
Options :

70819140439, 1886
70819140440, 1876
70819140441, 1866

70819140442, 1896

Question Number : 93 Question Id : 70819112359 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

rudent 8oad nNT) Muodallenenls QUdatio :
Options :

70819140439, 1886
70819140440, 1876
70819140441, 1866

70819140442, 1896



Question Number : 94 Question Id : 70819112360 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

As per 73"d amendment act (73'4 CA A) 1992 first time one third (1/3) reservation for women
was provided in which of the following ?

Options :

70819140443, Lok Sabha

70819140444. State Legislative Assembly

70819140445, Cabinets

70819140446, [ anchayati Raj bodies

Question Number : 94 Question Id : 70819112360 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

73 -00 ceamal (73" CAA, 192) @omymudlef mallades @pamod 1/3 moaimemo
6% alowymauafad omym coem moallwonmdlen age mewlaosm alaald
cuma ?

Options :

70819140443, GBIIHTVE

70819140444, 8RA eesslequdial @oavoep]

dhyoendlmgmy
70819140445.

70819140446, ERIOWOE) @02 @erLonul 0D



Question Number : 95 Question Id : 70819112361 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading,

< 210

- 205
== 200

Street C

_1-200

- 205

e 210
f’#— ’_,l'" 2 ] 5

R Contour N
m Vegetation M Police Station Temple
E Railway Stn [I:I:I:I:I:III] Hospital e School

With reference to the diagram, choose the correct statement.

Options :
Slope of land on which school is located is flatter than the slope of land on which

70819140447, hospital is located.

Slope of land on which police station is located is steeper than the slope of land on
70819140448, which school is located.

Slope of land on which school is located is steeper than the slope of land on which
70819140449. temple is located.



Slope of land on which school is located is the same as the slope of land on which

70819140450. temple is located.

Question Number : 95 Question Id : 70819112361 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@] oil@lddl 5618

Street C

r = 210
~ 215

> - ".r"

S Contour N
Vegetation % Police Station Temple
E Railway Stn [I:I:I:I:I:III] Hospital ] Se

@mildlenim allmamimd e oo mimoum oleeemmsi@e .

Options :

Migh)od cudldlloaigim eialwies adlal, @mnja@l cudleleo.cgum eiadlwies
70819140447, 2dalensnoid alommmosn),

catoefllmy” eguanad qudlale.cigym edlwies aidlal, i mudlele.algim

20819140448, BA@®S 2ldallemenotd eEmamBmoE.



Midh)d cudl@lealgymm eidleins aidlal, mmieoe madlaleaigim elalwies

20819140449, aldlaflemaanid &)amemIeamIeN.

midhjd mudlall e.aigym eglaes aidlal, @emuso mudliale.cigym ejdlwies
70819140450, -2dally rumomaos.

Question Number : 96 Question Id : 70819112362 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading,

Street E
Street B

Street C

. 200

e 205

P I
[ —

Water body .\’larket Cnntnur N
w!m Vegetation % Palice Station Temple
= Railway Stn []]]][] Hospital  [f7] School

[n the given diagram, for a person to travel from railway station to temple, one will have to
move in direction.

Options :

70819140451, North



70819140452, North - East

70819140453, South - West

70819140454, East

Question Number : 96 Question Id : 70819112362 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

moa] oildles| a6y
g
- o
@ 5
D Lo 210
] | 205
200
>4 Street C
' 200
1"'"
A et 206

210

A5

Stre"et A

&
ir

V] Water body Markcr Ccmtm]r N

Vegetation m Police Station 'I'f:mplc

E Railway Stn [I:m:l:m] Hospital (i School

mmilalaoim womammndly 8oy aemlss aodlden egpaumld mlmjo

@ROLRIGHICRIHS Caloruemeasiad, @D mcguem'l dloafleelss) memidlesnsnsl
o




Options :

Y (&m0
70819140451. o e

70819140452, CUSHS-&El986) A0

70819140453, ©®d6) aldlemmod dluo

70819140454, 946 El0

Question Number : 97 Question Id : 70819112363 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Map Reading.

[wia]
o
&
ni. 210
,,,,,, 205
jm.,_ ------------- 200
Street C
1 . 200
."‘r‘
S
10
215

g Water body Market Contour N
5% Vegetation % Police Station
E Railway Stn [I:I:I:I:I:I:I:[I Hospital

In the given diagram, water body is located at a level :

Temple

VEAEER] Bchool




Options :
70819140455, 5 m higher than police station.

70819140456. 5 m higher than school.

70819140457, Same level as police station.

70819140458, Same level as school.

Question Number : 97 Question Id : 70819112363 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ma;ﬂ” orfl@lesad] ) )b
[wia)
b
=
DLl 210
e || 205
o 200
E Street C
i 200
- 205
7210
’!—' 215

ceuiEEn] Water body Matket CoRies R
Vegetation m Police Station Temple
E Railway Stn [I:I:I:I:I:III] Hospital T,

@arildlenim awamamjmdlae), el dleal cudiel &.algma :

: MCQ Option Shuffling : Yes



Options :

70819140455, G010l EERavEMHIMRD 5 m P a6,

70819140456. M6l OMBOHOTD 5 m OIS0,

eatoellmd eouaue el ol M rO@oM@moem
70819140457. & t@ > rbg’:ﬂ

20819140458, Touglod eze1 afloaflal cromommosnt.

Question Number : 98 Question Id : 70819112364 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The following pie-charts show the distribution of students enrolled in higher secondary and
in college education, with respect to the household income of their families.

Higher Secondary Education College Education

The ratio between the number of students from LIG household category studying at higher
secondary to those in college is :

Options :
70819140459, 41
70819140460, 12

70819140461, 6:1

70819140462, 1:4



Question Number : 98 Question Id : 70819112364 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

an@d amaaRdl ; esoeaz allaogomaniimon (weaitme emdw algpdmdagd,
@RS dSleenianian wodadle ammome @mMNEl.)es ®QYInIHaiges eaal
-210d5 @69 OhoS)OTHdlde1m).

a0 ameo@dl allgpamoe e00824 allajosjomeo

0D emenRcl Mgl aldlenim agm.ong).&l. wodadle crjmom alleonamieel
HIGHRI0S ag)epajo 650eaIM alCln)M diSkeglo ®atlelgs @M lomo

Options :

70819140459, 41

70819140460, 12

70819140461, ©:1

70819140462, 1:4

Question Number : 99 Question Id : 70819112365 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The surface area of earth is 510 million km?. The land area is thirty percent of total surface.
Urban land is three percent of total land surface. World population is 7.8 billion and fifty five
percent is urban population. Find the closest correct answer.

Options :

70819140463 The density of population in urban area is 1000 persons/sq.km.



20819140464. The density of population in urban area is 849 persons/sq.km.

708191404665, The density of population in urban area is 4290 persons/sq.km.

70819140466. The density of population in urban area is 7800 persons/sq.km.

Question Number : 99 Question Id : 70819112365 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

eidwies paidma allnieldepe 510 dleyd km® ERaIM). @oed alnieltepeod

Djal® O@OMRET H06)d. EDeS HoEMEINS BT WBRMEBIET MO (IEBUo.

celndheM Mol 7.8 efleyd @pa)m). @®isoem @mdauemiwe’ rmmomo

MNB(IEBNOI0 BDHIM). BREBOMOWBIM®, afpalle @ISO NEWIR HEMAo
donzla ISl 1.

Options :

20819140463, "0 elecrRamioar 2NIvoad O3 1000 QD) Midjod . d.

20819140464, 0 lEcROTNR! 2MMOA0 MOMB® 849 BTN/ Midi@d &l. d.

70819140465, MO0 (IERREIOA 2mMoeal0 MoE3®m 4290 QljdDilhid/ Midbh@d &l. dl.

MNe [olecmamiens 2momiosalio quama 7800 ﬂJ}cﬂ'ﬂﬂL‘ﬁ:-O% Midhjd . al.
70819140466. L 4 ¢ / !

Question Number : 100 Question Id : 70819112366 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Population of city A, B and C from 1981-2011.

C I
2011 B |
A
C
2001 B
A
C |
1991 B |
A
C |
1981 B |
l I l I I
0 1 1 1 1 1

5,000 10,000 15,000 20,000 25,000
Choose the correct statement :

Options :
City A shows the increase in population from 1981 to 2011 and city C does not show
70819140467. the increase likewise.

= ity B shows a continuous decline in populafion from 1981-2011 whereas city A shows

70819140468, " Increase.

Popu[atinn in city A is increasing in each decade from 1981 to 2001 whereas city B

70819140469 shows a decline from 1981 to 1991 and then it increases from 1991 to 2001.

C ity C shows continuous decline in populatinn invarious decades whereas city B shows

70819140470. increase.

Question Number : 100 Question Id : 70819112366 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A, B, C agoml mmnremeeloal 1981 aymad 2011 lon@ies 2mavo6)

201

C
2001 B

1991 B [

1981

=ty

| | | | 1
1 1 1 1 i
5,000 10,000 15,000 20,000 25,000

0

AWIW (@M o6 eTHSIEe db
Options :

migl A, 1981 ojma@d 2011 AOE®)Es BMTMoald AdALM dhoemleaim).
20819140467, @®Balopeiwes cidavm migl C dosmilenymilg).

migl B, 1981mymad 2011 calonwies ®)shol@i® &mmoal)d gslallem
20819140468, ®oMsnemion migl A ababmallam doemlenimy. .

1981 oymad 2001 cuen®ies @0 swosmiaale migl A clea 2mmosal)
cudballenjemiord milgl B, 1981 mymad 1991 cusewies esialemm)e aflorils 1991

20819140469 @ 2001 eSS UBRLMLE &IeTIEN)M),

migl C aflallw amwomisasdaal @)st.ojwow 2mmesld esialem &oendlHaiemiond
20819140470. ™Al B, cudavmallom @oenflenmm).

Question Number : 101 Question Id : 70819112367 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



[nasurvey, the speeds of 100 vehicles were observed. The following table gives the distribution
of vehicle speed and the corresponding number of vehicles.

Vehicle Speed (kmhr~) No. of Vehicles
20 6
25 20
28 24
29 28
33 15
38 4
40 2
45 1

The median speed of the vehicles is :
Options :

) 1
70819140471, 26 kmhr

70819140472, 21.5 kmhr !

70819140473, 30 kmhr~!

1
70819140474, 282 kmhr

Question Number : 101 Question Id : 70819112367 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



an) cudecualdd 100 avaomemalns eoun® mldladlal). moey s emildenim esenddd
(LOADMETRRINS EANMWIo @B (UIDMETRRINS aginalie mjallaflenim)

aeomenled euno (kmhr ™) | a1oa0memsg)es of) 6Mo
20 6
25 20
28 24
29 28
33 15
38 4
40 2
45 1

CLOaDMETBRINS LIV CUN® agf)@@osm ?
Options :

70819140471, 20 €l &1/ menilon,d

j
70819140472, 215 . dl] @6mleo)d

70819140473, 30 &5l dl/ menflend

¥
70819140474, 255 1. A/ @emilangd

Question Number : 102 Question Id : 70819112368 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

Which of the following best justify ‘Slum Tourism’ in the above paragraph ?

Options :
70819140475, As a charity by privileged people.

70819140476, ‘s @ way to reduce crime.

70819140477, Asa way to sensitize tlravellers about poor llvmg conditions in the society.

70819140478, As an adventure activity.

Question Number : 102 Question Id : 70819112368 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

Which of the following best justify “Slum Tourism’ in the above paragraph ?
Options:

70819140475, Asa dla_rit}r b}r privileged penple.

70819140476, s @ way to reduce crime.



As a wav lo sensilize travellers about poor living conditions in the sociely.
70819140477. 3 p & )

70819140478. As an adventure activity.

Question Number : 103 Question Id : 70819112369 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World's urban population lives in shums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

The nearest meaning of ‘Gawking’ in this paragraph would be :
Options :

70819140479, Learning

70819140480, tATiNg

70819140481, Feeping

70819140482, Gloating

Question Number : 103 Question Id : 70819112369 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Hundreds of Shanty towns line the river banks, train tracks, and garbage dumps in the
Filipino capital. Around a quarter of its 12 million are considered ‘informal settlers’. Manila
is starkly representative of a global problem. According to the United Nations, about a quarter
of the World’s urban population lives in slums.

Slum tourism takes outsiders through their most impoverished marginalized districts. Slum
tourism sparks considerable debate around an uncomfortable moral dilemma. Many consider
the practice little more than slack-jawed privileged people gawking at those less fortunate.
Others argue they raise awareness and provide numerous examples of giving back to the
local communities.

The nearest meaning of ‘Gawking’ in this paragraph would be :
Options:
70819140479, Learning

70819140480, 'ATiNg

70819140481, Feeping

70819140482, Gloating

Question Number : 104 Question Id : 70819112370 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A: Over the last two decades collective attention span is decresu;i_ng.

Reason R : Quick availability and rapid access to large amount of information leads to loss of
interest in one topic very quickly.

[n the light of the above statements, choose the correct answer from the options given below :
Options:
70819140483 Both A and R are true and R is the correct explanation of A

70819140484, Both A and R are true but R is NOT the correct expla_nation of A

70819140485, A is true but R is false



A is false but R is true
70819140486.

Question Number : 104 Question Id : 70819112370 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
069 6" (mimoalmdstd mmildanim) : 80 &aj A agMio K6 &dReme R agMio
ARSI a S el aldlanim),
#00j0 A : &SloTm 0e2) BLIMIB ®0eInf afdlks)® (BRL doelo (deldSlal
@OAMaUId Mialotd) dhiOammIUEM®ITT dIEMeRISIM],
@vemo R:  flvoemes &)dlajes aele @maalal @Eionddlaioes
aflounememg e s BIB)® oflve e es ®OMal)o
MatisHalsiomymaiealds malanim).
n)asldd emildanm wmmoaneslns e uomld @y @oemlafldlenim
ommasmgddd appale S.alnne oamre EleeETTHS ).
Options :
$00j0 A @lo HoeMe R ©o (Al@oem. &je A -©@)6S (El@O® AUYOaIM@IET
70819140483, #d08mo K.

#0050 A -@Jo »Ivemo R o nudlwoen. @ A -@©s nilwow APelPMAL

70819140484, @d0eMo K.

70819140485, | St thSmOaH  ackanc B ooy

70819140486, 2P A odlg). Honeme R wadlwosn).

Question Number : 105 Question Id : 70819112371 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R :

Assertion A : In past two decades, rate of divorce has increased in India.
Reason R : Increasing number of married couples do not want to have children.

In the light of the above statements, choose the correct answer from the options given below :
Options:

20819140487, Both A and R are true and R is the correct explanation of A

70819140488, Both A and R are true but R is NOT the correct explanation of A

70819140489, A is true but R is false

70819140490, * 18 false but Ris true
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